PRECALCULUS 1 (ALGEBRA) - TEST 3
Fall 2021

NAME HEY STUDENT NUMBER

SHOW ALL WORK!!! Be clear and convince me that you understand what you are doing. Use.
equal signs when quantities are equal (and do not use them when things are not equal). Write
in complete sentences and explain your answers. Put your final answer in the box, when
provided. Each numbered problem is worth 15 points. This test is two-sided and there are 6
questions. No calculators, put away your cell phone and smart watch, and set the

computer monitor face-down on the CPU!

1. David has 400 yards of fencing and wishes to enclose a rectangular area. (a) Express the area A
PodAon.  |of the rectangle as a function of the width w of the rectangle. (b) For what value of w is the

34T e, b)} area largest?

S R %/ M w at b/{ o ,4,1”.-«; ﬁfﬁéj g// 7y{e /?' ie,f/ a*g’/ A e 4 4 A[‘ ’/ F’f"f';’l""&_ J

~

1he M/ P | — *i ) Lo e /wzr‘._.c,f»-«—c/-ffﬁ-» 4

w

The ~oote- %Cf e 2ATLW s Dorned bor 100 go ps

00T o 200~
p r = P00 2% ({ ve i
7 /@W“/ ) Vhom 27720 L A WA e a fend
— (’f ‘_A " ‘ e " :i:‘é‘ﬁ; g/ g oy s "\ [e o = ¢ ~£<+‘\_ = 2 ¥
(g) Ve b % bt ree 7

lv/ w ’4(/\”} S W(ZOC) - W):

7 gty = 200w S awrd
{b) %/ (\/ P 4 /{}‘ e ,J/xl/np{/] ;;/, e A /f 4/ | r
, /M} ot Lo ve a =~ J.} h = 200, f«’_‘/ =0, Huee 4="1<0

! /{"A«f’L— P78 AN ((,‘é(;;!{ 7 é"i L f(

V2 /e /4 { W) Aiu LA ol St O zf/
Jen : " s e 1
' Vi 7 '7-.',5{‘1( el 114(»3 t /‘3 I P VAR i /’ 5 e } “ I;{P éi/{

100w — w*.

w it C

IV A AL
/m/azmwx rectnn ot /4) /](W) =00 w — w ¥
w~ —(200)/(2(-2)) (b) w= 100 paids
- l o0 Z:/(ft,-a j]/ .




B

2. Find a polynomial of degree n = 3 with the real zeros 1y = —2, ro = 3, and r3 = 5, whose graph
contains the point (2, 36).
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3. Consider f(z) = —2(z — 1)%(z? — 16). (a) Find the z-intercepts and y-intercept (which will be
off the scale given below). (b) Determine whether the graph crosses or touches the z-axis at

L. Plo)= - 2(-1) (18] =:

the z-intercepts. Graph.
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4. Find the vertical, horizontal, and oblique asymptotes, if any, of rational function
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5, 6. Consider R(z) = 3:2
~ the graph of R is above or below the z-axis. (¢) Graph y = R(z). (d) Solve the inequality
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